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QUESTION 1

Which of the following statements regarding a tracking area list (TA list) is TRUE?
A. The location of an idle UE is known by the network at an eNodeB granularity.
B. The location of an active UE is known by the network at a TA list granularity.
C. All the tracking areas in a TA list are served by the same MME.

D. A tracking area list is a logical set of MMEs.

Correct Answer: B

QUESTION 2

Which of the following is NOT performed by the MME during a TAU procedure?
A. MME sends paging messages to a list of eNodeBs.

B. MME informs the HSS about the UE\\'s current location.

C. MME sends the UE a new TA list containing the new TAls.

D. MME determines if SGW relocation is required and selects a new SGW.

Correct Answer: D

QUESTION 3

Which of the following messages are exchanged between the MME and the SGW during the dedicated bearer activation
procedure?

A. Attach Request / Attach Accept

B. Create Bearer Request / Create Bearer Response

C. Session Management Request / Session Management Response
D. RA-Request / RA-Answer

Correct Answer: B

Reference: https://www.sciencedirect.com/topics/engineering/dedicated-bearer

QUESTION 4

Given the exhibit, if GTP-C load control is used, which SGW will have the highest probability of being selected by the
MME for new session requests?
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Order | Preference | Flags | Services Replacement

200 55535 *a” X-3gpp-SgwW:x-s5-gtp topon eth9 sguwz pnali nndes 3gppnetwnrk org

200 25535 “a”  x-3gpp-sgw:x-s5-gtp topon ethQ sgw04 pl:}clil nodes 3gppnetwork org

| Calculated Relative Available Load

—_
sgwi2 15%

sgw03 20%
sgw04 10%

A. sgw01

B. sgw02

C. sgw03

D. sgw04

Correct Answer: A

QUESTION 5

Which of the following statements regarding handover is FALSE?

A. Handover can occur when UE is in ECM-CONNECTED state

B. S1-based handover is used when X2-based handover attempt failed

C. During X2-based handover, MME may remain the same or be relocated

D. S1-based handover is used when there is no X2 interface between source and target eNodeBs

Correct Answer: C
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